Loy

TROWE-HROEHENBTESHERDOIX . MILIRFIH > TRAITTIEEL,

[ ofRcrEEs Bl ThYET, BB —FESNELSE R BT ZONROUEESECHRDOSX BRI,

BM-24 BM-24S BM-28 BM-28S
—#%4210.4kg (1548 2) RER245.9kg (1610 a) —&RU222.6kg (1540 ) EER261.8kg(164HE)
HA-5004 x1 HA-5006 x1 HA-5004 x1 HA-5006 x1
A 1 @A 1 @A 1 EBEAE 1
7L —FA 2 7L —FA 2 7L —FA 2 ZL—FA 2
ZL—FB 2 7L—FB 2 7L—FB 2 Z7L—FB 2
HiFHEEA 2 HiFHEEA 2 HiFHEEA 2 HiFHEEA 2
HIFHYERG£E 1 HIFYERG£E 1 HiIFYERG£E 1 HIFYERG£E 1
HEITIRA 6 HERTIRB 6 HEITIRA 6 HERTIRB 6
BFEITRE 4 BFEITRE 4 BFEITRE 4 BFEIIRE 4
B/ VIR 6 ZREEEER 4 /R IVEIR 6 ZREEEER 4
Zxvv7A 4 EREEEEL 4 Zx vy 7A 4 EREEEEL 4
M4Z vy EY*Y 6 B AXILVFIR 6 M4Z v EY 3 6 B AXILVEIR 6
M6l k 166 Z*¥vv 7B 4 M6 F 166 Z*vv 7B 4
M675>TF vk 2 M4Z v EY 3 6 M675>TF vk 2 M4Z v EYF 6
IR 12 M6 F 188 IR 12 M6 F 188
FELXIIR 9 M67 5> TF vk 2 FELRIIR 9 M67 5> TF vk 2
M8 x 207 )L k 16 IR 12 M8 x 207 L k 16 IR 12
M87 5>+ v b 16 BHeur PR 9 M87 5>+ v b 16 B eLr PR 9
M8 X 75 L k 20 M8 x 207 L k 16 M8 X 757 L k 20 M8 x 207 )L k 16
M8 x 807K L k 2 M875vTF vk 16 M8 x 807K L k 2 M875vTF vk 16
M8* v v 7+ v k 22 M8 X 75 L k 24 M8F v v 7+ v k 22 M8 X 75 L k 24
M87 v v — 44 M8* v v 7+ vk 24 M87 v v — 44 M8* v v 7+ vk 24
/Xy ¥ (2mm) 1 M87 v v — 48 /Xy ¥ (2mm) 1 M87 v v — 48
ESL—k 1 Sy ¥ (2mm) 1 ESL—k 1 Xy ¥ (2mm) 1
hrH¥y 4 FETL—F 1 hrH¥y 4 FETL—F 1
AL b F v v 7N(GR) 9 hrH¥y 4 ALk F v v 7N(GR) 9 hr¥y 4
R kF vy FNESD) | 19 L k% v v 7N(GR) 9 R kF vy FNESD) | 19 L k% v v FN(GR) 9
- 1 RV kF+ v INESD) | 19 K —IL 1 AL b¥F¥ v 7NESD) | 19
BL~— 7 iEfK 1 B — I 1 BL~— 7 iR 1 B — 1
EREAAS - RIS 1 BL~— 7 3HiE 1 EiREAAS - RIS 1 BL~— 7 3HiE 1
M FERE 1 EREREAE - RATE 1 M FERE 1 EREREAE - RATE 1

MRS 1 MRS 1
HA-2011 X1 HA-2011 X1
[ =EeEs [ 2] HA-2011 x1 HERIAER | 2] HA-2011 x1
T3S [ 2] ERES | 2]
HA-2012 x1 HA-2012 x1
=Y |1 HA-2012 x1 HRE |1 HA-2012 x1
| EBA L1 HERE L1 HBE L1 HERE L1
ERE L1 ERE |1
HA-5031 x1 HA-5031 x1
'@ E3 | 2] HA-5033 x1 2 | 2] HA-5033 X1
RER | 2] =EZ [ 2]
HA-2021 x2 HA-2021 x2
| |[E TR R [ 1] HA-2021 x2 [{AE TR/ AL [ 1] HA-2021 x2
[ mEEE L |1 IE TR/ | 1] E LB/ |1 IE TR/ SR | 1]
E LB S L1 EE B L1
HA-5022 x1 HA-5023 X1
RE FE/S%IL24 1 HA-5022 x1 BETE/ % )L28 1 HA-5023 x1
BELE/ FIL24 1 HE PR/ S IL24 1 HELE/ 328 1 HE FRE/S2IL28 1
HIFHE24 1 BE LB/ FIL24 1 HIFHHE28 1 BE LB/ F)L28 1
B D24 1 BEIFHE28 1
HA-5041 x2 HA-5043 x2
[ T18E24 (B1F) [ 2] HA-5045 X2 BE28 (EfF) | 2] HA-5047 X2
REB/E2 (HEF) | 2| RERE2 (Ek) | 2
HA-5051 x1 HA-5051 X1
E: TS [ 1] HA-5051 x1 EiRE | 1] HA-5051 x1
| |ERE |1 ERE [ 1] ERE |1 ERE [ 1]
ERE L1 ERE L1
HA-5072 x2 HA-5072 x1
[ [BR/IRAR [ 2] HA-5072 x2 [ER/S3ILR [ 2] HA-5072 x1
[BR/$F LR | 2] [ER/ SRR [ 2]
HA-5073 x1 HA-5073 x2
= A Y | 3] HA-5073 x1 [ER/ SRR | 3] HA-5073 X2
|[BIR/SRILR [ 3 |BIR/SF IR [ 3
HA-4481 X1 HA-4483 x1
[ [&mEiam2d (EE) | 1 HA-4481 x1 SEELA28 (Hfk) | 1) HA-4483 x 1
| B E V24 (EfE) L1 BRELE24 B | 1] EF & 28 (B L1 &RELA28 (Bik) | 1]
[FF L 24 (EE) |1 [EF 28 (EfE) 1
HA-3350 x1 HA-3350 X1
7= & (L=2000) 1 HA-4085 x1 7= & (L=2000) 1 HA-4087 x1
AT IR0 3 FHeLWZRA—7 (B [ 1 AT LR8O 3 FHeLWzA—7 (EEF) [ 1]
TRYFAUbE 1 TRYyFAU b 1
Xy %> (2mm) 1 HA-3350 x1 /Xy %> (2mm) 1 HA-3350 X1
YREALTETZ— 2 =T &\ (L=2000) 1 YRALTETZ— 2 =T &\ (L=2000) 1
Y R 2 T ILHR80° 3 Y R 2 LT ILR80° 3
YRILZ 2 TEYFALE 1 Y RILZ 2 TEYFALE 1
SUSH >4 x25 2 Xy %> (2mm) 1 SUS* >4 x25 2 Xy % (2mm) 1
EEA 1 YRLTET2— 2 EEA 1 YRALTETZ— 2
Y KL 2 Y R 2
Y RLZ 2 Y RLE 2
SUS* >4 x25 2 SUS* >4 x25 2
EEH 1 EEH 1




Eebdoeged |

TROBEE-MBRAOERENBEHEEDSR ., MILIEF IR > TRAILTTHLZEL,

BM-24L-2 BM-24L BM-24SL-2 BM-24SL
—f%#4337.8kg (2548 &) —f%#9127.4kg (1048 22) ZERIZ99.3kg (27 ) ZER53.4kg(111A )
HA-5004 x1 HA-5008 x1 HA-5006 x1 HA-5009 x1
BRSmAe 1 RG] 1 g 1 Rt 1
7L — kA 2 7L — kA 1 7L — kA 2 7L — kA 1
7L — B 2 7L — kB 1 7L — B 2 7L — B 1
HiEHEEA 2 HIEHEEA 2 HiEHEEA 2 HIEHEEA 2
BHIFHEGEE 1 BHIEHETEE 1 BHIFHETEE 1 BHIEHEfTEE 1
A ERTIRA 6 BEETIRA 3 BHEITIRB 6 BEETIRB 3
BERTIRE 4 A ERTIRE 2 BEITIRE 4 A ERTIRE 2
B/ ILEIR 6 BE/SRILER 2 EREECSEA 4 BB/ XRLZR 2
Z¥ v v 7A o HELEREE i SREESEA 4 HEVEREE 1
M4z y ey 6 Zx vy 7A 2 BRI ZR 6 2Z* v v 7B 2
M6l k 166 MAZ vy EY xS 6 Z*vv 7B 4 MaZ vy EY xS 6
M67 5 >3 Fy b 2 M67R L 106 MAZ vy EY R 6 M67R L 109
IR 12 M675>>F v b 2 M6 L 188 M67 5 >3 F v k 2
FEuxIiR 9 IR 5 M675>SF v b 2 IR 5
M8 x 207K )L | 16 HELxIR 7 IR 12 HFEuxIR 7
M87Z>¥F v b 16 M8 x 207 )L 16 FEuxIiR 9 M8 x 207K )L | 16
M8 x 757K )L | 20 M87 5o F v k 8 M8X 207K /L F 16 M87 5> F v k 8
M8 x 807K L | 2 M8X 758 /L k 10 M875>oF vk 16 M8 x 757K )L | 12
M8F v v 7+ v k 22 M8 X 807 /L k 1 M8X 758 )L k 24 M8F v v 7+ v k 12
M87 v v— 44 M8* v v 7+ v b 11 M8F v v 7+ v k 24 M87 v v — 24
/Sy %> (2mm) 1 M87 v v — 22 M87 v v — 48 HoH 2
ESL—+ 1 HoHy 2 /Sy %> (2mm) 1 HRIL ¥ v v 7N(GR) 7
HoH 4 Lk F ¥ v ZN(GR) 7 ESL—F 1 AL F v v 7N(SD) 8
RIL b F v v 7N(GR) 9 RIL b F v v 7N(SD) 8 hy¥y 4 A —L 1
R k¥ v v 7N(SD) 19 B — L 1 Lk F v v 7N(GR) 9 BL~ — 7 ZFf% 1
#H—L 1 BL~ — 7 ZE#K 1 ALk F v v 7N(SD) 19 HEILEREAE 1
BL~— 7 iR 1 FEILEREAE 1 A - 1
IRIRARE - RiIE 1 BL~ — 7 E#E 1 HA-2013 x1
FEILERARE 1 HA-2013 x1 EikERAAE - R = 1 AERTF 1

AERTH 1 HEILERARE 1 L 1
HA-5008 x1 L 1
EREAE 1 HA-5009 x1 HA-5034 x1
<HEHIIERSE>— HA-5032 x1 A 1 Eds 1]
B2 1| <FMIIERSE>—
HA-2011 x1 HA-5022 x1
A 2] HA-5022 x1 HA-2011 x1 BE B/ 224 1
HETRE/ V24 1 HFRIAR 2 HE LB/ L24 1
HA-2012 x1 BEEE/ R4 1 HIFHiE24 1
HERE 1 B 24 1 HA-2012 x1
HERE 1 HEE 1 HA-5046 X2
HA-5042 x2 e ¥ S 1 RERE24 GEH) 2|
HA-2013 x1 ‘BE24 GEiR) 2]

R 1] HA-2013 x1 'HA-5073 X2
T 1 | HA-5073 x2 Ty 1 [EIR/S% LR 3
[ERR/XF IR 3 AERF 1
HA-5031 x1 HA-4482 x1
B 2 HA-4482 X1 HA-5033 x1 BiELa124 GERR) 1|

2R Le124 (GER) 1 RER 2 BT & 124 (GERR) 1
,,,,,, HA-5032 x1 B & 124 GERR) 1
iz 1 HA-5034 x1 HA-4086 x1
HA-3350 x1 RER 1 BFewzn—7 GEER) | 1
HA-2021 X2 =T & (L=2000) 1
HIEm FE/ 2L 1 AT LR8O 3 HA-2021 X2 HA-3350 x1
[l % 1 TRYyFAVE 1 RIE TR/ L 1 =T &\ (L=2000) 1
/Xy ¥ (2mm) 1 AE R L 1 HLTILRS0° 3
HA-5022 X2 YRLTFET 52— 2 TEYFALE 1
BETE/ 3 IL24 1 A FL 2 HA-5022 X2 /Sy %> (2mm) 1
BEEE/ 224 1 Y ELZ 2 %A FE/<FIL24 1 YRLTFR T8 — 2
HIFHEE24 1 SUSH T4 x 25 2 BEEE/ L2 1 A EFu 2
EEF 1 HIFHE24 1 YRLE 2
HA-5041 X2 SUSH T4 x25 2
BE24 (B) 2 HA-5045 x2 EEF 1
HA-4481 x1 ZERE2S (EF) 2
HA-5042 X2 B8 Lai2d (B) 1
BE24 GEIF) 2 B e 024 (B 1 HA-5046 X2 HA-4482 x1
RERE2L GEH) 2| B8 Lai2d GER) 1
HA-5051 x1 HA-4482 x1 B e V24 GERR) 1
ZiRE 1 2R LE124 (GER) 1 HA-5051 x1
ELv 1 BFEW24 GER) 1 ERA 1] HA-4085 x1
ZIRE 1 EX =S 1
HA-5072 X2 HA-3350 X2
ER/SHILR 2 =T & (L=2000) 1 HA-5072 X2 HA-4086 x1
FLT LR8O 3 ER/SRILR 2 #Hewzn—7 @EH) | 1
,,,,,,, HA-5073 x3 TEYFALE 1
[ TIER/FAR 3 Ry ¥ (2mm) 1 ~ HA-5073 x3 HA-3350 x2
YRLTRTH— 2 TR/ xR 3 7= & W (L=2000) 1
fY RL 2 T ILRS0° 3
YRLE 2 HA-4481 x1 TERYFALE 1
SUSH T4 x 25 2 BELai2d (EE) 1 Ky x> (2mm) 1
EEA 1 & L24 (BiK) 1 YRLTFRTZ— 2
HHY v 2
Y rLE 2
SUSH T4 x25 2
EEE 1




B
H a4 —Rx I
TROBE - BIOBHRENBTETHRNDSR . MITIEFIZRE> THAIZ TTHES L,
[ OMRIcEREES ML THYET . BUBF—FEANELHBE . BT EOHROVEBESEHRNDIZTBEIEEL,

BM-28L-2 BM-28L BM-28SL-2 BM-28SL
— 3 #362.3kg (251 2) — #1139, 7kg (11101) FTERA30.7kg27IR D) ETRI168.9kg(121R4)
HA-5004 x1 HA-5008 x1 HA-5006 x1 HA-5009 x1
B S 1 BB e fE 1 B emAE 1 Bl aafE 1
ZL—FA 2 Z7L—FA 1 ZL—FA 2 Z7L—FA 1
ZL—IB 2 7L—FB 1 7L—IB 2 7L—FB 1
HiEHEEA 2 HiEHEEA 2 HiEHEEA 2 HiEHEEA 2
HIEHEfTEE 1 HIEHEftEE 1 HIEHEUfTEE 1 HIEHERftEE 1
BEITIRA 6 BEEEUTIRA 3 BEITIRB 6 EEE{TIRB 3
BEITIRE 4 BEETIRE 2 BEITIRE 4 BEE{TIRE 2
L B ILFER 6 P&/ )L AR 2 ZREEEESR 4 &/ L AR 2
Z¥ vy 7A 4 [ FeuEReE 1 SREESEA 4 [ FeuEReE 1
M4& y €2 6 2¥ vy 7A 2  BAFLER 6 2*v v 7B 2
M6 F 166 M4Z v B 2D 6 Z* v v 7B 4 M4Z v B 2D 6
M67 >3 F v b 2 M6HIL b 106 M4Z y € 2D 6 M6HIL b 109
E 12 M67 >3 F v b 2 M6 F 188 M67 5 >SF v k 2
BFE WA PR 9 VR 5 M67Z>Y+ v b 2 EZ 5
M8 x 207K )L k 16 HEWLRIIR 7 IR 12 HEWLRIIR 7
M87 5o+ v b 16 M8 X 2078 /L k 16 L IR 9 M8 X 2078 /L k 16
M8 X 758 L k 20 M87Z>oF v k 8 M8 X 2078 L k 16 M87 5> F v k 8
M8 X 807K /L k 2 M8 X 758 /)L k 10 M87 5o+ v b 16 M8 X 758 /L k 12
M8F v v 7+ v b 22 M8 X 807 /L k 1 M8 X 758 L k 24 M8* v v 7+ v k 12
M87 v ¥ v — 44 M8F+ v 7+ v k 11 M8F + v 7+ v b 24 M87 v+ — 24
Xy %> (2mm) 1 M87 v < v — 22 M87 v < v — 48 Hhr¥Y 2
EFFL—F 1 HhrHF 2 Xy %> (2mm) 1 HFILk* ¥ v ZNGR) 7
hrHF 4 ALk F ¥ v ZN(GR) 7 EFSL—F 1 Ak *+ v 7N(SD) 8
AL EF ¥ v 7N(GR) 9 . R bF¥ v 7N(SD) 8 HhrHy 4 BH—L 1
FILFF vy 7NSD) | 19 XS — L 1 FILFF v v ZN(GR) 9 BLY — 7 3HEK 1
K — 1 BL~ — 7 Ei& 1 IV b F v v 7N(SD) 19 FESZFREAE 1
BL~— 73R 1 FEILERARE 1 A - 1
IRRGHAE - RS2 1 BL~ — 7 SHE 1 HA-2013 x1
HEILFRAE 1 HA-2013 x1 EREBAE - (RiE 1 | fEgETH |1
| fEgETH |1 ML FEAE 1 [T |1
HA-5008 x1 [ ##H 1
kY [ 1 HA-5009 x1 HA-5034 X1
<HEMIIERSE>— HA-5032 X1 [ e [ 1 [OIxEZ [ 1
2 |1 <HHIIERSE>—
HA-2011 x1 HA-5023 x1
L3P [ 2 HA-5023 X1 HA-2011 x1 HE T IE/ <3128 1
BETE/FL28 1 [ EsEs | 2] BE B/ <228 1
HA-2012 x1 ®“E B/ 328 1 HiF D28 1
| EBE [ 1 HIFHE28 1 HA-2012 x1
L EBE L1 | EBE [ 1 HA-5048 X2
HA-5044 X2 [ #gE 1 [ =TRE28 (&) [ 2|
HA-2013 x1 [[T18E28 GEiF) [ 2
| AT [ 1 HA-2013 x1 HA-5072 x2
T 1 HA-5072 X2 | AT [ 1 ER/$% LR [ 2]
EBR/SH LR | 2 [ #EgH |1
HA-5031 x1 HA-5073 x1
2 [ 2] HA-5073 x1 HA-5033 x1 B/ SRR E]
EBR/SH LR | 3 g2 | 2]
HA-5032 x1 HA-4484 x1
Z [ 1] HA-4484 x1 HA-5034 x1 [ =2ELA28 GE) |1
[ =2ELA28 GE) L1 [ =ER |1 | EEeun2g GER) L1
HA-2021 x2 | EFEruv2s GER) L1
| AETE AR [ 1] HA-2021 X2 HA-4088 x1
L EEE R L1 HA-3350 x1 | ETE R [ 1 [ [#ewzn—7 @ | 1]
=&\ (L=2000) 1 [ EEE sz L1
HA-5023 X2 AT LK 3 HA-3350 x1
HRE TRE/ <228 1 TEYFAE 1 HA-5023 X2 =T &\ (L=2000) 1
%iE ERE/IL28 1 Ry *> (2mm) 1 % FIE/ S 3128 1 H,T LR8O 3
HFH#E28 1 YRALTRT&Z— 2 % LERE/ <1128 1 TRyFAV b 1
Sy R 2 B oE28 1 /Ry ¥ (2mm) 1
HA-5043 x2 Y RLZ 2 YRALTRT&Z— 2
[ T|BE28 (1K) | 2] SUS* 24 x25 2 HA-5047 X2 HY K 2
EEA 1 [ =TRR28 (E{) | 2 Y RLF 2
HA-5044 X2 SUS* P4 x 25 2
[ T8E28 GEig) [ 2 HA-5048 X2 EER 1
HA-4483 X1 [ =TRRE28 (&) [ 2
HA-5051 x1 [ =2ELA28 (Ef) [ 1]
EZ w5 [ 1 | B 28 (B 1 HA-5051 x1 HA-4087 X1
L ERE L1 RE=Z w5 1] [ [Fevzo-—7 EWH | 1]
HA-4484 x1 | ERE |1
HA-5073 x5 [ =2ELA28 GE) |1 HA-4088 x1
ER/SF IR [ 3 | [FFE 28 (&R 1 HA-5073 x5 [ Hewzo—7 GER) | 1]
ER/SF IR | 3
HA-3350 x2 HA-3350 X2
=T &\ (L=2000) 1 HA-4483 x1 =T &\ (L=2000) 1
AT LR8O 3 []=ELA28 (EiF) [ 1] AT LR8O 3
TERYFALE 1 LG RETS) 1 TERYFALE 1
Ry £ (2mm) 1 Ry £ (2mm) 1
YFEATE TR — 2 HA-4484 x1 YFEATE 72— 2
ALY R 2 [ 2B L28 (&) 1] ALY Ko 2
Y rLE 2 | [FEen2s (ER) L1 Y RLF 2
SUS* P4 x 25 2 SUS* P4 x 25 2
EEH 1 EEH 1




